JO000IADDOD (0DOD0)
OO0oooood 20130 50 290

goboboogobbboooobbobooooboo

[1]00000000000000000000000000000000000000
000000000000000000(MO000000000A,B,CO00000000
0oooo)

()00 A,B,C00000AD BOBO COCO ADODDOOOOOOOOOA,B,CO
oooooQ

(2) 00 A,B,CO P(A) =100 P(B) = 000000000PANBNC) =
P(AcUBUC)0O0DO0O

[2]00 0,15 00 10000000000000O0O0DOOOODODODODODODOOOOOO
0000 (g0 I0000D ADODDOOOOOoDoD 2,6)00000 (7,13)000
OooooOo pOO0OO

(1) P(4), P(B)0DOOD
(2) AD BOOOOOOOOOOO
(3) A0 BOOOOODOODODOOODODOOO

[3] 30000000 100000000000000000001000000000
0 A020000000000 4030000000000 4;0000P(4,) = 1,
P(4) =% P(4;)=1000000000000000000 BOO0OO0OO0OOOO
00000000000000000000 P(B|A,) =4, P(B|A;) = &, P(B|43) = 1

0000000000000000000000000000020000000000
00 P(4,/B)0O0OOO

O[1) (1) 200 (2)20001[2) (1) 150 (2) 150 (3) 100032000 1000000000
000000000000000000000000000



